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Questions 17-24: 5 points




THALES FOUNDATION

Kangourou International Maths Competition (Level 3-4)

1. O BaciAng 0éAe1 va ypdwel Tn Aé§n MATHEMATICS o€ éva KoppdT Xopti. OéA&l Ta
OI0QOPETIKA YyPAUMATA VA gival PE SIAQOPETIKO XpWHA Kal T idia ypdupata He TO idlo

Xpwua. NMNéca xpwuata Ba XpeIaoTE;

Basil wants to write the word MATHEMATICS on a sheet of paper. He wants different
letters to be coloured differently, and the same letters to be coloured identically. How
many colours will he need?

A) 7 B)8 C)9 D) 10 E) 13

2. Xe TEOOEPEIG ATTO TIG TTEVTE IO KATW EIKOVEG TO AOTTPO £uPAdO gival ioco Ye TO yKpifo

euBado. Ze oia eIk6va To dorpo eufado AEN EINAI IZO pe 1o ykpido eufado;

In four of the five pictures the white area is equal to the grey area. In which picture are the

white area and the grey area different?
A B C D E
) . ) ) ) )
[

3. O marépag amAwvel TNV ymrouydda oT1o oxoivi. OéAel va XpnoipgoTtroifoel 600 o Aiya
pavraAdkia yiveral. MNa 3 weroéreg Xpeidaderal 4 pavraAdkia, OTTWG QAiveTAl OTNV EIKOVA.

Néoca pavraAdkia 8a XpelaOTEi yia 9 TTETOETEG;

Father hangs the laundry outside on a clothesline. He wants to use as few pegs as
possible. For 3 towels he needs 4 pegs, as shown. How many pegs does he need for 9

towels?

A)8 B) 10 C) 12 D) 14 E) 16
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4. H Aifa xpwparidel Ta terpdywva A2, B1, B2, B3, B4, C3, D3, ka1 D4
a1ré TA IO KATW OXAMaTa 0a SnuioupynoOsi;

. Moio

ABCD

W =

.

llIzo colours the squares A2, B1, B2, B3, B4, C3, D3 and D4.
colouring does he get?

Which

ABCD ABCD ABCD ABCD ABCD

= o=

= W
R N

5. 13 maidid mwaifouv KpuPTo. ‘Eva aidi QuAdel kal ol uttéAoitro KpuBovral. Metd amrd
Aiyo Bpiokel Ta 9 Traudid. Méca aidid KpUBoOvVTAl AKOMQ;

13 children are playing hide and seek. One of them is the “seeker”. After a while 9
children have been found. How many children are still hiding?

A)3 B) 4 C)5 D)9 E) 22

6. O MixdaAng kai o MNavvng traifouv BeAdkia. O kaBévag pixvel 3 BeAdkia (6TTwWG PaiveTal

oTtnv €Ikéva). Mol1og viknoe Kal Je TTOOOUG TTEPIOCCOTEPOUG TTOVTOUG KEPDIOE?

MixaAng Mavvng

A) O MixdAng, képdioe 3 TrepioodTepous Tovioug  B) O lMNdavvng, képdioe 4 TTEPICCOTEPOUG TTOVTOUG
C) O MixdAng, képdioe 2 repiocdTepoug TOvToug D) O Mdvvng, kEpdioe 2 TTEPIOCTETEPOUG TTOVTOUG

E) O MixdAng, képdioe 4 TTEPICCOTEPOUG TTOVTOUG
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Mike and Jake were playing darts. Each one threw three darts (see the picture). Who won
and how many more points did he score?

Mike Jake
A) Mike, he scored 3 points more B) Jake, he scored 4 points more
C) Mike, he scored 2 points more D) Jake, he scored 2 points more

E) Mike, he scored 4 points more

7. 'Eva Kavoviko opBoywvio oxnua o€ évav ToiXo dnuioupyndnke amrd 2 18wV TTAAKAKIA;
Ta YKpPia Kal Ta piy€. Katrola TTAakdakia £Xouv TTECEl a1Td TOV ToiXO (OTTWG PaiveTdl OTO
oxnua). Néoca ykpifa TAAKAKIO £XOUV TTETEI KATW);

A regular rectangular pattern on a wall was created with 2 kinds of tiles: grey and striped.
Some tiles have fallen off the wall (see the picture). How many grey tiles have fallen off?

A) 9 B) 8 C)7 D) 6 E)5

8. To 2012 ival dioekTo £T0G, AUTO onpaivel 6T o pRvag PeBpoudpiog éxel 29 pépeg. ITIg
15 MapTiou Ta TTATTAKIO TOU TTATTTTOU HoU éyivav 20 npepwv. MNMoéTe ByRKav atmro To auyo;
A) oTig 19 ®efpouapiou  B) oTig 21 PeBpouapiou C) oT1ig 23 deBpouapiou

D) oT1ig 24 ®eBpouapiou  E) oTig 26 PeBpouapiou

The year 2012 is a leap year that means there are 29 days in February. On the 15" March
2012, the ducklings of my grandfather were 20 days old. When did they hatch from their

eggs”?
A) on 19" of February B) on 21* of February C) on the 23" of February
D) on the 24™ of February E) on the 26" of February
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9. "Exeig ToAAd ToUBAa o€ popen L, To kaBéva amrd autd arroTeAsital amd 4 TeTpdywva

OTTwG @aiveTal oTo oYXAHA:

Moéoa amrod Ta 1o KATW oXAHATA HTTOpOoUV va dnuioupyndouv 6tav KoAAQooupe 0o TéTola

TOUBAq.

A)O B) 1 C) 2 D) 3 E) 4

You have L-shaped tiles, each consisting of 4 squares as shown: ‘ |

How many of the following shapes can you make by glueing
together two of these tiles?
A)O B) 1 C)2 D) 3 E)4

10. Tpia praAdvia kooTifouv 12 oevTg TEPIOOOTEPA ATTO £va PTTAAOVI. éoa oToIXi{el éva
MTTaAOVI;

Three balloons cost 12 cents more than one balloon. How much does one balloon cost?
A) 4 B) 6 C)8 D) 10 E) 12

11.H yiayia épriage 20 pmiokéTa yia Ta gyyovia tng. Ta SlakOOPNoe pe OTAPIdEG Kal
auuydala. MpwTta diakéounoe Ta 15 PTICKOTA PE OTAQPIOEG KAl PETA Ta 15 pe apuydala.
TouAdyioTo TTOCA PITICKOTA SIOKOOHUNOE KAl JE OTAQIOEG KAl JE apUySaAa;

Grandmother made 20 gingerbread biscuits for her grandchildren. She decorated them
with raisins and nuts. First she decorated 15 biscuits with raisins and then 15 biscuits
with nuts. At least how many biscuits were decorated both with raisins and nuts?

A) 4 B)5 C)6 D)8 E) 10

12.2¢ éva “sudoku” o1 apiBuoi 1, 2, 3, 4 pTOoPOUV VA UTTAPXOUV HOVO Mia @opd ot KAOE
OoTAAN Kal o€ KABE YPAUMA. ZTO TTI0 KATW padnuaTtiké “sudoku” o MéTpog TTpwTa YPA@PEl TA

amoTteAéopara Twv TPagewv. MeTd ouptrAnpwvel To “sudoku”.

Moi16v apiBuo6 Ba BdaAel o MéETpog OTO YKPI{O TETPAYWVO;
1x1 1x3

A) 1 B) 2 C) 3
2%x2|6—3 6—5

D) 4 E)112

9-712-1
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In a Sudoku the numbers 1, 2, 3, 4 can occur only once in each column and in each row. In
the mathematical Sudoku below Patrick first writes in the results of the calculations. Then

he completes the Sudoku.

Which number will Patrick put in the grey cell?
1x1 1x3

A1l B) 2 C)3
2x2|16—3 6—5

D) 4 E)lor2

13.Avdpeca oToug ocupdpadnTég Tou NIKOAO utrdpyxel SITTAACI0G apIOUOG KOPITAIWY aTré TA
ayopia. MNoiog ard Toug 0 KATW apIBuOUg puTTopPEi va gival icog Je Tov apifud OAwvV Twv
maIdiwv TNG TA¢NG;

Among Nikolay’s classmates there are twice as many girls as boys. Which of the

following numbers can be equal to the number of all children in the class?

A) 30 B) 20 C) 24 D) 25 E) 29

14.Z10 ZXOAgio TWV ZWWV, 3 yatdkid, 4 TamdKIA, 2 XNVAKIO KAl OPKETA APVAKIA KAVOUV
paénua. H daokdAa KoukouBdyla Bprke 611 6Aol o1 pabntég Tng pagi £éxouv 44 modia.
Moéoa apvdkia UTTAPXOUV OTO XXOAEio;

In the animal’s school, 3 kittens, 4 ducklings, 2 goslings and several lambs are taking
lessons. The teacher owl found out that all of her pupils have 44 legs altogether. How
many lambs are among them?

A) 6 B) 5 C)4 D)3 E)2

15. 'Evag kUBog gival @Tiayuévog atrd TEooepa KOPNATIO, OTTWG QaiveTal oTo oxfpa. Kdbe
KOMHUATI aTrOoTEAEITE ATTO TECOEPA IO MIKPA KOMUATIA TTOU £XOUV TO id10 XpwHa. Moio gival
TO OXAMA TOU AOTTPOU KOMHATIOU;

A cuboid is made of four pieces, as shown. Each piece consists of four cubes and is a

single colour. What is the shape of the white piece?
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16.Z¢ éva XpIOTOUYEVVIATIKO TTAPTI UTTHPXE AKPIBWG éva KNPOoTrHyIo o€ Kabe éva amd Ta 15
Tpaméfia. YrApxav 6 knpomrRyia pe 5 0éoeig yia kepid kal Ta utréAoitra gixav 3 Béoeig yia
KepId. Mooa KePIG TTPETTEI VO AyOPACOUHE VIO VA YEHIOOUHE OAa TO KNPOTTRYIA;

At a Christmas party there was exactly one candlestick on each of the 15 tables. There
were 6 five-branched candlesticks, the rest of them were three-branched ones. How many
candles had to be bought for all the candlesticks?

A) 45 B) 50 C) 57 D) 60 E) 75

17.Mia akpida BéAer va avéBel pia okdAa pe TToAAd okaAid. H akpida ptropei va kdavel poévo
800 S10@OopEeTIKA AApaTa: 3 OKAAOTTATIA TTAVW | 4 OKAAOTTATIO KATW. ZEKIVWVTAG ATTO TO
£€50@0g, TOUAdYIOTOV TrOOO GApOTO TIPETTEl Vo KAveEl £TO1 WOTE va @Tdoel oto 22°
OKOAOTTATI KAl VO {EKOUPAOTEI;

A grasshopper wants to climb a staircase with many steps. She makes only two different
jumps: 3 steps up or 4 steps down. Beginning at the ground level, at least how many

jumps will she have to make in order to take arest on the 22" step?

3" step |
2 step 3° okahondrt
1% step 2° okohomdrt
o 1° okohomért
£€8adog-ground
A) 7 B) 9 C) 10 D) 12 E) 15
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18.0 ®iAirrog @TId)VEl éva @I8AaKI pe domino(vTopIvo) HE eTTTd IOVIa. Badel To éva midvi
META TO AAAO €101 WOTE 810G APIBUOG KOUKKIdWYV oTa mIdvVIa va ayyi{ovTal HETAEU TOUG.
Kavovikd 1o @1ddki rpétrel va £xel 33 KOukkideg. AAAG o adeApdg Tou o MNwpyog TTRpE duo
mOVIa ard To QISAKI (OTTWG @aiveTal oTnV €IkOva). Mdoeg KOUKKIBEG ATAV OTNV B€0N TOU
£PWTNHATIKOU ? ;

Frank made a domino snake of seven tiles. He puts the tiles next to eacg other so that the
sides with the same number of dots were touching. Originally the snake has 33 dots on its
back. However his brother George took away two tiles from the snake (see the picture).

How many dots were in the place with the question mark?

SEREBEDE
"o 1 | L
[ ]
®
[ ]
H ie ele @
. ! e .
i ie ele o
A) 2 B) 3 C)4 D)5 E)6

19.0 M'pnyoépng oxnuarifel dUo apiBuolg pe Ta yneia 1, 2, 3, 4, 5, kai 6. Kai o1 duo apiBuoi
£€xouv Tpia yneia. Kabe yneio ptropei va xpnoipotroindei pévo pia gopd. Merd mpooBéTtel
ToUug BU0o apIBoUg TTou é@Tiage. Molo gival To HeEYaAUTEPO AOPOICHA TTOU UTTOPEI VA TTApEl
o Npnyépng ammd Tnv wpoéobeon;

Gregor forms two numbers with the digits 1, 2, 3, 4, 5 and 6. Both numbers have three
digits. Each digit is used only once. He adds these two numbers. What is the greatest sum
Gregor can get?

A) 975 B) 999 C) 1083 D) 1173 E) 1221

20.H Avva, o lMNdvvng, n ‘EAeva kail n Karepiva 8éAouv va BydAouv pia pwTtoypagia OAEg
padi. H Katepiva kai n Avva gival ol KOAUTEPESG PiAeg Kal BEAouv va oTaBouv n pia ditrAa
oTnv dAAn. O lMNadvvng BéAel va oTaBei ditrAa ard Tnv Avva emeldn Tou apéoel. Me Tréooug
S10@POPETIKOUG TPOTTOUG UTTOPOUV VO OTABOUV yia va BydAOuV Tn @WTOYPAQId;

Anna, John, Helena and Kate want to be in one photo together. Kate and Anna are best
friends and they want to stand next to each other. John wants to stand next to Anna
because he likes her. In how many possible ways can they stand for the photo?

A) 3 B) 4 C)5 D) 6 E)7
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21."Eva £181k6 poAdI €xel 3 BeikTeG pE DIAPOPETIKO PNAKOG (évav yia TIG WPEG, Evav yia TA
AemrTd Kai évav yia Ta deutepOAemTa). Aev yvwpifoupe moiog deikTng €ival Tol0g, aAAd

yvwpiloupe 6711 n wpa Tou deixvel To poAdi gival owoTn. ZTiG 12:55:30 W.y. o1 deikTeg gixav

TN 00N TOU QaivETAI OTNV EIKOVA . Mwg Ba gival To poAdI n wpa 8:11:00

.M

A special clock has 3 hands of different length (for hours, for minutes, and for seconds).

We do not know which hand is which, but we know that the clock runs correctly. At

12:55:30pm the hands were in position depicted here
look like at 8:11:00pm?

22.0 MixdAng didAege éva BeTIKO apiBuéd kol Tov TTOAAATTAACiOOE ME TOV €AUTO TOU. XTh
ouvéxela TpocBeoe 1 kal TToAAatrAaciace 1o amoTéAeopa pe 1o 10, TPpo60Bece 3 Kal
moAAatrAaciaoce 1o amoTéAeopa pe 4. To TeAIkO ammotéAeopa mou TipPe ATav 2012. Moiév
apIBuo eixe diaAégel oTnv apxn o MixaAng;

Michael chose some positive number, multiplied it by itself, added 1, multiplied the result
by 10, added 3, and multiplied the result by 4. His final answer was 2012. What number did
Michael chose at the beginning?

A) 11 B)9 C)8 D)7 E)5
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23."Eva opBoywvio xapti £éxel diaotdoelig 192 X 84 mm. KoéBoupe 10 XapTi o€ pia gubeia
YPOUMA £TO1 WOTE va TTApoune dUo péPN KAl TO éva amd autd va gival TETPAYwVO.
Kdavoupe 10 i610 pg TO KOPMHATI TTOU BeV gival TETPAYWVO Kal ouveyioupe To idlo. Moio givai
TO MAKOG TG TAEUPdG TOU HIKPOTEPOU TETPAYWVOU TTou Oa TTApOuUPE amd auth Tn
dladikaoia;

A rectangular paper sheet measures 192 x 84 mm. You cut the sheet along just one
straight line to get two parts, one of which is a square. Then you do the same with the
non-square part of the sheet, and so on. What is the length of the side of the smallest
square you can get with this procedure?

A) Imm B) 4mm C) 6mm D) 10mm E) 12mm

24.X¢ éva maixvidl Todoo@aipou o vIKNTAG Kepdilel 3 Baduolg, evw o xapévog 0 Babuoug.
Edv 1o Trauxvidi £pBel 1IcotTaAia, TOTE Kal o1 U0 opddeg Kepdifouv 1 Badud n kabeuid. Mia
ouada mou éxel aigel 38 traixvidia éxel kepdioel 80 BaduoUg. Bpeite To péyioTo MIOAVO
apIBuo6 TTaIXVISIWV TTou £Xa0€ auTh N opada.

In a soccer game the winner gains 3 points, while the loser gains 0 points. If the game is a
draw, then the two teams gain 1 point each. A team has played 38 games gaining 80
points. Find the greatest possible number of games that the team lost.

A) 12 B) 11 C) 10 D)9 E) 8



